Cell 1
2.00 | == Velocity = Angle
- 150
1.75
- 100
1.50 i
i
2 1.25 0 5
o ()
o °
2 1.00 1 0 o
o
c
0.75 4 F -50 <C
0.50 - —100
0.25 I —150
T T T T
2 4 6 8
Time
Cell 4
— \/elocif] m— Angle
25 - 150
- 100
2.0 i
i
__é\ - 50 S\
O 1.5 1 [}
o °
2 ro o
1.0 1 2
- —50 <
0.5 1
- —100
0.0
T T T T T —-150
0 10 20 30 40
Time
Cell 7
- 150
0.4
- 100
)
0.3 1
- Fso @
f= o
o ()
o Lo S
2 024 o
g
r —-50 <
0.1
- —100
0.0 I —150
T T T T
10 20 30 40
Time
Cell 10
2.00 A p=— Velocity = Angle
- 150
1.75 4
1.50 4 -0
%]
Q
> 1251 - 50 Qo
b (o)
] Q
S 1.00 1 Lo &
(9]
> Q
0.75 - 2
- 50 5
0.50
I —100
0.25
I —150
0.00 - T T T T T
2.5 5.0 7.5 10.0 125

Time

Cell 2
=— \elgpcity = Angle
2.0 - 150
- 100
0w
1.5 § %
Z F50 5
] Q
3 z
< 0 F0 o
o
c
- —50 <
0.5
I —100
0.0
T T T T T -150
0 10 20 30 40
Time
Cell 5
= \/elocity — Angle
2.0 - 150
- 100
%]
1.5 1 3
2z F50 5
] Q
5 z
g 107 Fo o
=)
c
F —50 <
0.5
- —100
0.0
T T T T —-150
0 10 20 30 40
Time
Cell 8
- 100
m— \/elocity H— Angle
08 7 - 50
8
0.6 -
> 0 g
= [o)]
] Q
3 z
L 04 4 - -50
o
c
<
0.2 - —100
0.0 - —150
T T T T
10 20 30 40
Time
Cell 11
1.0 o == Velocity = Angle
- 150
0.8
- 100
m
0]
> 0.6 rs0 9
b (o)
] Q
2 Lo =
> 0.4 Q
g
F —50
<
029 - —100
I —150
0.0
T T T T T
0 10 20 30 40
Time

Cell 3

35 _H Velgeity = Angle
- 150
3.0
- 100
2.5 EE
3 - 50 qg
S 297 @
o -0 z
2 151 o
L 50 2
1.0 4 <
- —100
0.5
H- I —150
0.0
T T T T
0 5 10 15 20
Time
Cell 6
Velocity m— Angle
1.2 4 - 150
1.0 1 - 100
F
S, 08 50  ©
= o
(@] (0]
o -0 ©
< 0.6 -
> Q
L 50 2
0.4 <C
- —100
0.2
- —150
0.0
T T T T
10 20 30 40
Time
Cell 9
0.26 o == Velocity = Angle | 40
0.24 L 50
0.22 1 Lo i
[}
z g
G 0.20 F-20 3
3 z
[}
> _ F —40 2
0.18 =1
<
0.16 - —60
0.14 - - —80
- —100
0.12 T T T T T
23 24 25 26 27 28
Time
Cell 12
Velogi m— Angle
3.0
- 150
2:5 7 L 100
F
> 207 -so @
= o
2 :
< 151 L o Z
> Q
2
1.0 1 F-50 <
0.5 - —100
0.0 AN | 150
T T T T T
0 10 20 30 40
Time



Cell 13
1.4 4 = Velocity = Angle [ 150
1.2 § - 100
1.0 m
Lso @
> S
£ 08+ o
ke Fo T
[
> 0.6 Q
g
F —50
0.4 <
02 - -100
0.0 - —150
T T T T
0 10 20 30 40
Time
Cell 16
1.4 o = Velocity m— Angle
- 20
1.2 1 - o
1.0 F-20 &
o
> F-40 5
= [®)]
o 0.8 1 [0}
k) 0 2
> L —
> ] 9
0.6 o
- —-80 C
<
047 L —100
0.2 F —120
- —140
T T T T
5 10 15 20
Time
Cell 19
0.35
m— \/elocity = Angle | 150
0.30 \1
- 100
0.25
8
- 50
> 0.20 + g
= [o)]
] 0}
o - o <
g 0.15 o
&)
c
0.10 F -50 <<
0.05 7 L —100
0.00 -
T T T T T T
20 25 30 35 40 45
Time
Cell 22
0.7
- 150
0.6 -
- 100
0.5 m
[0}
- Fso Y
£ 04 4 o
] [0}
o ©
O] o
= 0.3+ Q
g
02 4 F—-50 <
0.1 I —100
0.0 I —150

Velocity

Velocity

Velocity

Velocity

5 o = Velocity

0.8

4
~
1

o
)
1

It
[
1

I
S
1

o
[
1

0.2

0.25

0.20

0.15

0.10

0.05

0.00

Cell 14

— Angle

Time

Cell 17

m— Angle

— \/elocity

6 8 10 12
Time
Cell 20

= Velocity = Angle

- 50

- —50

- —65

- —70

- —75

- —80

100

- —100

- —150

- =55

- —60

- -85

- —90

- 150

- 100

- 50

- =50

- —100

F —150

30 35 40
Time
Cell 23

= \/ejocity = Angle

- 150

- 100

- 50

- —50

- —100

10 20 30
Time

Angle (degrees)

Angle (degrees)

Angle (degrees)

Angle (degrees)

4.0 = Veglocity = Angle
1 - 150
3.5
3.0 4 - 100
m
[0}
S 25 Fso O
= [o)]
0}
8 2.0 ©
o oS
> Q
1.5 H 8‘
- —50 <
1.0 1
I —100
0.5
\’\M I —150
0.0
T T T T
0 10 20 30
Time
Cell 18
— \/e|pcit m— Angle
Y 9L 40
0.5
- —60
m
[0}
> 0.4 - —80 g
b (o)
] [0}
o ©
D F —-100 >~
g [}
0.3 IS
c
F -120 <
0.2
- —140
T T T T T
14 15 16 17 18
Time
Cell 21
= \/elocit m— Angle
- 150
- 100
m
[0}
- Fs50 ©
= [o)]
o 0}
o Lo °
< @
g
- —50
<
I —100
F —150
T T T T T
0 25 50 75 100
Time
Cell 24
1.75 4 Vglocit —— Angle
- 150
1.50
- 100
1.25 1 m
[0}
- F50 Q
4 -1 (o)
S 1.00 ]
% - o )
> 0.75 Q
g
F —50
0.50 <
I —100
0.25
I —150
0.00

Cell 15

50 75
Time

100



Cell 25
Velocity — Angle
5 - 150
- 100
41 m
i
__? - 50 5
O 3 - [d]
S z
2 0w
. o
2 c
- —50 <
1 -
I —100
0 - X
T T T T T -150
0 25 50 75 100
Time
Cell 28
—\/elocity —— Angle |
1.75 4 175
1.50 - 150
1.25 4 - 125 8
> Q
-E - 100 g
3 1.00 o
2 - 75 O
0.75 - [o)]
c
L 50 <
0.50 -
- 25
0.25 -
Y
T T T T
9 10 11 12
Time
Cell 31
0.08
Veloci m— Angle
0.07 - 100
0.06 -
F50
0
0.05 [0}
> g
F - o o
O 0.04 A 0]
3 z
()]
> _ L Q
0.03 50 o
<
0.02
I —100
0.01
I —150
0.00 -
T T T T
80 90 100 110 120
Time
Cell 34
1.2 § Velocity m— Angle
- 150
1.0 §
100
0
0.8 [0}
> Q
k= - 50 g
3 0.6+ S
()]
> L Q
0 [=)]
0.4 c
<
F —50
0.2
- —100
0.0
T T T T T
2.5 5.0 7.5 10.0 125

Time

Cell 26
3.0 o == jVelocity m— Angle
- 150
2.5
- 100
2.0 o
> Lso 2
= o
o}
3 15 4 S
2 ro o
1.0 2
' - -50 <
0.5
- —100
0.0 9 L —150
T T T T
0 10 20 30
Time
Cell 29
0.18 Velocity m— Angle
- 150
0.16
0.14 100 —~
%]
o
2 0.12 =
= Y &)
O - 50 o)
5 z
g 0.10 P
Lo o
0.08 <
0.06 =30
0.04 7 - -100
T T T T T
28 30 32 34 36
Time
Cell 32
== \elocity = Angle
0.05 7 L 150
0.04 - 100
m
I}
> - 50 g
£ 0.03 1 3
3 z
2 0 o
0.02 =)
C
F —50 <C
0.01
I —100
0.00 - —-150
T T T
90 100 110
Time
Cell 35
— \/elocity — Angle
0.7 - 150
0.6
100
%]
o}
- 0.5 o
= o
(@] - (0]
<) 50 5
< 041 =
> Q
[®)]
0.3 - o g
0.2
- —50
0.1
T T T T T
5.0 75 100 12.5 15.0
Time

Velocity

Velocity

Velocity

Cell 27

—— Angle
- 150
- 100
m
Q
-5 Q©
o
Q
o Z
Q
g
- =50
<C
I —100
- —150
T T T T
20 40 60 80
Time
Cell 30
Velocity = Angle
0.14 -
- 100
0.12
m
0]
0.10 50 o
o
Q
z
0.08 i o
=)
c
0.06 - <
F —50
0.04
0.02 T T T T T T -100
37.5 40.0 425 45.0 47.5 50.0
Time
Cell 33
Velogty m— Angle
- 150
- 100
m
Q
> - 50 Qv
= [o)]
[%} Q
o Lo S
2 o
o
- 50 £
I —100
- —150
T T T T
25 50 75 100
Time
Cell 36
Ipcity m— Angle
0.14 + L 150
0-12 9 - 100
0.10 8
Lso 9
—
o
0.08 O
- 0 E
0.06 <
F-50 2
0.04 <
F —100
0.02
- —150
0.00
T T T T
60 80 100 120
Time



Cell 37
— Velocity = Angle
- o
0.18
L —25
F
- -50
>, 0.16 o
= o
g - -75 L
2 Z
()
> 0.14 - -100 ©
C
<
- -125
0.12
I 150
F -175
T T T T T
80 82 84 86 88
Time
Cell 40
0.040
Velocity
0.035 - -0
I 100
0.030 —
(%]
(0]
- I 50 v
= . [®)]
= 0.025 O
kel Lo Z
g @
0.020 =)
- 50 5
0.015
I —-100
0.010
I 150
T T T T
115 116 117 118
Time
Cell 43
eloc m— Angle
1.75 - - 150
1.50 - L 100
m
1.25 1 I}
- F50 ©
= o
O 1.00 o}
o - o Z
()
> i 9
0.75 o
- -50
0.50 <
- —100
0.25
I -150
0.00
T T T T T
0 25 50 75 100
Time
Cell 46
1.4 o = Velqcity m— Angle
- 150
1.2
I 100
1.0 5
o
- 50
2 08 o
o (0]
kel Lo Z
<L 0.6 o
=
0.4 -0 <
02 J I —-100
0.0 - I 150

25 50 75 100

Time

Cell 38
0.08 | === Velocity = Angle
0.07 A \ - 100
0.06 —
0w
L 50 O
2 0.05 A o
o ()
kel Z
U 0.04
> Lo 2
[@)]
C
0.03 - <
0.02 - \_ / -0
0.01 1
. . . -100
105 110 115
Time
Cell 41
1.0 elocity = Angle
- 150
0.8
I 100
m
(0]
> 0.6 - rso 2
£ o
o (0]
o 0 2
° L
> 0.4 4 Q
[®)]
- 50 5
0.2 1
I —-100
0.0 10
T T T T T
0 25 50 75 100
Time
Cell 44
0.30 ~ ocity = Angle
- 150
0.25
- 100
m
0.20 I}
- - 50 v
= o
8 0.15 - S
= O] ~
g )
[@)]
0.10 L 50 S
0.05 I —100
0.00 I -150
T T T T T T
20 40 60 80 100 120
Time
Cell 47
2.00 Velocity = Angle
— - 150
1.50 100
F
S, 125 o
2 50 5
(0]
8 1.00 o
2 0o
0.75 =)
S
0.50 - >0
0.25 - —100
0.00
-150

Time

75

100

Cell 39

0.045 Velocity — Angle
- 150
0.040
- 100
m
(0]
5, 0.035 Lso @
= o
[v] ()
kel Z
Q 0.030 1 o w
[@)]
C
0.025 - -0 <
- —100
0.020
I -150
T T T T T
110 112 114 116 118
Time
Cell 42
= \/elocity m— Angle
10 4 - 150
I 100
0.8 —
(%]
(0]
- I 50 v
S 0.6 - 2
kel Lo Z
< K]
0.4 =
- 50 5
0.2 I —-100
0.0 - I 150
T T T
5 10 15
Time
Cell 45
1.4 - Velocity = Angle
- 150
1.2
- 100
1.0 i
o
2 08 4 F50 5
O ()
kel Z
L 06 o o
[@)]
C
0.4 1 L 50 <
0.2 1 L 100
0.0 1
T T T T T -150
20 - 150
- 100
(%]
1.5 o
2 50 5
o (0]
kel Z
g) 1.0 o I
[®)]
C
L 50 <
0.5
I —100
0.0 1
-150

75
Time

100



Cell 49
0.7 1 I 150
0.6
100
m
0.5 i}
> I 50 g
S 0.4 [}
o 0 Z
S L
> 034 Q
g
+ —50
0.2 1 <
o1 4 I —100
0.0 4 I -150
T T T T T
0 25 50 75 100
Time
Cell 52
3.0
150
2.5 L 100
[
S 207 Fso @
= o
O ()]
S 154 Lo &
> v
g
1.0 F-50 <
0.5 - —100
0.0 4 I 150
20 4 - 150
- 100
(%]
1.5 - o
_4? - 50 E\
o ()
Re] °
9 1.0 - o I
(o)}
C
L 50 <
0.5
I —-100
0.0
T T T T T —-150
0 25 50 75 100
Time
Cell 58
‘eloci —— Angle
3.0
150
2.5 L 100
[
S 207 Fso @
= o
O ()]
% 1.5 - - o 2
> v
g
1.0 F-50 <
0.5 - —100
0.0 4 I 150
T

T

25

T T T

50 75 100

Time

Cell 50

1.4 1

Velofit:

m— Angle

- 150
- 100
m
o
:? - 50 5
S Q
o °
g o 2
<)
c
L 50 <
- —100
T T T T T —-150
0 25 50 75 100
Time
Cell 53
5 Velpci m— Angle
- 150
4 -
- 100
m
9]
- 34 Fso Y
= o
S Q
o 0 2
2 -
> 2 4 2
g
F-50 <
1 -
- —100
o - A I —150
T T T T T T
0 20 40 60 80 100
Time
Cell 56
0.35
inu m— Angle
0.30 - | - 150
0.25 - 100
m
]
> 0.20 02
= [o)]
] Q
o Lo z
g 0.15 o
g
0.10 - 0 <
0.05 - —100
- -150
0.00
T T T T T
0 25 50 75 100
Time
Cell 59
3.0 o = Velogity = Angle
- 150
2.5
- 100
2.0 4 o
9]
.;, - 50 S’
Q
3 15 S
g oo
<)
1.0 §
F —50
0.5
I —100
0.0 H
T T T T T -150
0 25 50 75 100
Time

Velocity

Cell 51

elait — Angle
0.20 150
- 100
| m
0.15 9
- 50 v
[@)]
()
0 Z
0.10 o
[@)]
- 50 5
0.05
- —100
0.00 - I -150
T T T
25 50 75 100
Time
Cell 54
- 150
- 100
m
o
_4? - 50 5
v] (0]
o z
g oo
[®)]
C
L 50 <
I —100
T T T T T -150
0 25 50 75 100
Time
Cell 57
0.7 1
- 150
0.6
- 100
(7]
0.5 @
__? - 50 5
S 0.4 [}
] °
(V] -
> 03 o e
[@)]
C
0.2 1 - 50 <
0.1 1 - —100
0.0 1
T T T T -150
0 25 50 75 100
Time
Cell 60
1.4 4 Vgjocit: = Angle
- 150
1.2
I 100
1.0 - m
o
- 50
2 08 )
] (0]
kel Lo Z
<L 06 A k]
2
0.4 -0 <
0.2 4 I —-100
0.0 4 I 150
T T T T
25 50 75 100
Time



Cell 61
1.0 Velocity = Angle
- 150
0.8
- 100
B
> 0.6 -0 g
= (o))
] 9]
9 -0 E
(9]
> 0.4 4 9
o
F —-50 C
<C
0.2 1 I —100
1|
I —150
0.0
T T T T T
0 25 50 75 100
Time
Cell 64
6 =
= \/elocity = Angle | 0
5 - —20
m
4 4 F-40 g
> g
- (o)
s - 60 5
237 o
o
F —-80 c
<
2 -
I —100
1 -
F —120
T T T T
2 4 6 8
Time
Cell 67
2.00 Vglocity
1.75 4 - 150
1.50 - 100
F
- 1.25 + (ILJ
2 - 50 oy
8 1.00 g
S 0w
0.75 - [«)]
Z
0.50 ~ - =30
0.25 - —100
0.00 -
T T T T~ —150
0 10 20 30
Time
Cell 70
1.4 o = Velocity — Angle
- 150
1.2 +
- 100
1.0 A a
o
2 08 - r0 5
[u] Q
S z
<L 0.6+ Fo o
o
c
0.4 1 L 50 <
02 7 - —100
0.0
T T T T T —-150
2.5 5.0 7.5 10.0 125

Time

Velocity

Velocity

Velocity

Velocity
N
1

1.4 A

1.2 A

1.0

0.8

0.6

0.4

0.2

0.0

10

3.0

2.5

2.0

1.5

1.0

0.5

0.0

Cell 62
- 150
- 100
@
- 50 [0}
—
o)
(0]
o E
Q
[«)]
F -50 C
<
- —100
F —150
T T T T T
0 25 50 75 100
Time
Cell 65
Velocity
- 150
@
- 100 O
—
(@)
0]
°
F50 o
[«)]
c
<
Y
I —50
T T T
0 10 20 30
Time
Cell 68
w— \/elocity m— Angle
- 100
w L so
0
(0]
(0]
—
Lo I8
<l
Q
[<)]
F -50 c
<
- —100
R
T T T T
0 10 20 30
Time
Cell 71
— \/efocity — Angle
- 150
- 100
m
(0]
I 50 g
@]
(0]
ke
Lo -
Q
[<)]
/N - 50 5
F —100
F —150
T T T T T
2.5 5.0 7.5 10.0 125
Time

Cell 63

1.4 locit m— Angle
- 150
1.2
- 100
1.0 =
i
- 50
2 08 - o
(@] (]
o Lo =
L 06 I
g
0.4 r —-50 <
0.2 I —100
0.0 F —150
T T T T
0 10 20 30
Time
Cell 66
1.4 < Velocify m— Angle
- 150
1.2 A
1.0 F 100 &
o
2 08 5
g Fo 8
2 06 2
o
Y c
0.4 <
0.2 4 - —50
0.0 H
T T T - —100
0 10 20 30
Time
Cell 69
3.0 1 Vejocity
- 150
2.5
- 100
2.0 1 4
(]
> - 50 =y
3 15 S
2 0w
[&)]
1.0 <C(
F —50
0.5
I —100
0.0
T T T T T T =150
0 5 10 15 20 25
Time
Cell 72
35 4= Velocity
- 150
3.0 1
I 100
2.5 1 )
(]
> Q
) . - (o)}
5 2.0 50 9
S z
L 151 l, @
o
c
1.0 - <
F —50
0.5
I —100
0.0 H

T T T T T
2.5 5.0 7.5 10.0 125

Time



Cell 73
1.0 q = Velocity = Angle |- 0
F —20
0.8
- -40 5
Q
> 06 1 %;
S - —60 O
s z
[T}
> 0.4 4 - -80 Q@
o
c
<C
F —100
0.2 H
F —120
0.0 1
T T T — ~140
2 4 6 8
Time
Cell 76
= \/elocity = Angle | 150
0.20 H /
- 100
m
0.15 o [0]
> Lso 2
b (o)
] Q
2 z
Q -
< 0.10 L o k)
=)
c
<
0.05 F =50
0.00 - —100
T T T T
17.5 20.0 225 25.0 275
Time
Cell 79
0.016 + Velocity m— Angle [~ 0
0.014 - L 50
0.012
- -40 5
Q
3 0.010 - %’1
S - —60 O
© 0.008 A )
(9]
> - -s0 Q@
0.006 - [«)]
c
<C
0.004 - —100
0.002 - F —120
0.000 -
T T T T — ~140
132.5 135.0 137.5 140.0 1425
Time
Cell 82
— \/elqcity m— Angle
0.012
- 150
0.010
- 100
[
- 0.008 - o
= - >0 o
] Q
2 0.006 )
g — ) w
E— - =)
0.004 Z
F —50
0.002
I —100
0.000
T T T T T T —-150
210 215 220 225 230 235

Time

Velocity

Velocity

Velocity

Velocity

1.0

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

o
=
S

It
o
&

°
o
=)

o
=)
Sy

0.02

0.00

0.025

0.020

0.015

0.010

0.005

0.000

0.012

0.010

0.008

0.006

0.004

0.002

0.000

Cell 74
locity m— Angle
- -70
m
80 O
—
[@)]
Q
Z
F-90 Q@
[@)]
C
<C
- —100
 -110
T T T T T T
2 3 4 5 6 7
Time
Cell 77
Valiaq m—— Angle
- 150
- 100
m
o]
g
] - 50 o
(0]
Z
- -0 0]
©
C
1 L 50 <
\
7 I —100
T T T T T —-150
50 100 150 200 250
Time
Cell 80
= \elocity — Angle
] I 150
4 - 100
m
1]
- 50 Qo
- [@)]
Q
©
- 0 ~
o
T [@)]
- 50 £
T L —100
4 - —150
T T T
160 180 200
Time
Cell 83
— \/elocifly m— Angle
T L 150
] - 100
m
o)
T g
50 5
(0]
4 Z
0 o
©
i C
L 50 <
- —100
T T T T —-150
230 235 240 245
Time

Cell 75

m— \/e|pcity — Angle
10 4 - 150
I 100
0.8 =
(0]
> -5 Q©
S 06 2
o - o Z
2 o
0.4 o
- —50 C
<
0.2 1 - —100
I -150
0.0 1
T T T T T
5 10 15 20 25 30
Time
Cell 78
m— Angle
0.06 L 150
0.05 - 100
F
- 0.04 L 50 o
£ o
(@] (0]
2 0.03 - Lo 2
> Q
[®)]
0.02 - - 50 &
0.01 - —100
0.00 - —150
T T T T T
50 100 150 200 250
Time
Cell 81
. I 50
0016 4 Velogity Angle
- 25
0.014
- o
m
(0]
- 0.012 4 - -25 Q
= o
e S
= F -50 <
o 0.010 P
[@)]
F-75 <
0.008 A <
I —-100
0.006
- -125
T T T T T T
207.5 210.0 212.5 215.0 217.5 220.0
Time
Cell 84
1.4 < Velocit: m— Angle
- 150
1.2
- 100
1.0 - w
o
2 08 - r50 5
[} (0]
2 z
<L 0.6 -0 o
[®)]
C
0.4 - —50 <
02 7 L —100
0.0 1
T T T T T T —-150
0 50 100 150 200 250
Time



Velocity

Velocity

Velocity

Velocity

Cell 85
1.4 - Velocity = Angle
F —50
1.2 F —60
m
(V]
F-70 @
o
1.0 9
°
I —80 o
2
0.8 1
F-90 <
0.6 I —100
I —110
T T T T
1 2 3 4
Time
Cell 88
= \/elocity m— Angle
0.30
- 150
0.25
- 100
@
0.20 L 50 O
o
35
0.15 - L o Z
Q
g
0.10 F-50 <
0.05 - —100
0.00 r —150
T T T
15 20 25
Time
Cell 91
0.06 - Velocity — Angle
- 150
0.05
- 100
0.04 $
Fs0 @
o
]
0.03 o
= 0 2
0.02 ?
' L —s0 <
0.01
F —100
0.00
T T T T T —-150
85.0 87.5 90.0 92.5 095.0
Time
Cell 94
100
w— \/eloci m— Angle
0.011
- 50
0.010 -
m
(]
0.009 Lo o
o
35
0.008 - ~
Q
F —-50 o
c
0.007 - <
0.006 - F —100
0.005 -

T
195

T
196

T
197

T
198

Time

T
199

T
200

Velocity

Velocity

Velocity

Velocity

Cell 86
2.00 — Angle
1.75 4 - 150
1.50 - 100
[ B
1.25 4 GLJ
- 50 8
1.00 ko]
=) o
0.75 =)
&
0.50 ~ - =30
0.25 I —100
0.00 -
T T T T -150
0 50 100 150
Time
Cell 89
—\/elocity m— Angle
0.20 - - 150
F 100 &
0.15 (0]
9}
~
o
- 50 )
0.10 k)
o
Y c
<
0.05
- =50
0.00
T T T T T = -100
30 40 50 60 70
Time
Cell 92
00204 Veglocity — Angle
- 150
0.015 - M0
0n
Q
g
- 50 o
Q
0.010 S
- 0 9
- o
&
0.005 -0
I —100
0.000 -
T T T T — —150
105 110 115 120 125 130
Time
Cell 95
— \/elOCi m— Angle
0.012 - - 150
0.010 - 100
m
9}
0.008 - 50 v
o
O
o
0.006 - -0 ~
Q
g
0.004 - -50 <
0.002 + - —100
0.000 - - —150
T T T T T
210 220 230 240 250
Time

Vgocity = Angle
- 150
- 100
m
(0]
- I 50 Qo
= o
(@) ()
o L o Z
2 o
2
- —50 <
- —100
- —150
T T T T T T
0 50 100 150 200 250
Time
Cell 90
0.12 Velggity, — Angle
- 150
0.10
- 100
(%]
0.08 8
i 0 5
Y 0.06 3z
2 0 @
[®)]
0.04 H c
L 50 <
0.02
- —100
0.00 —
T T T T T —-150
50 100 150 200 250
Time
Cell 93
0.0175 elpcity = Angle
- 150
0.0150
0.0125 - - 100
(7]
o
2 0.0100 50 5
O Q
< z
g 0.0075 o k)]
[@)]
C
0.0050 L 50 <
0.0025
- —100
0.0000
T T T T T -150
160 180 200 220 240 260
Time
Cell 96
0.0040 - Velocity = Angle
- 75
0.0035
- 50
0.0030 .
o
F 25
>, 0.0025 o
= o
[} (0]
O 0.0020 o o
2 o
0.0015 L o5 ©
25 9
<
0.0010 ~ L <o
0.0005
- -75
0.0000

Cell 87

246

247

248

Time



Velocity

Velocity

2.5

2.0

=
n

=
o

0.5

0.0

© o o o
= = N N
o w o w

o
o
a

0.175

0.150

0.125

Velocity

0.100

o
o
N
[

0.050

0.025

0.000

Velocity

Cell 97

cit:

— Angle

T T T T T T
100 150 200 250

Time

Cell 100

= \/elocity m— Angle

Time

Cell 103

ocity = Angle

1

T

Time

Cell 106

elocity m— Angle

150
100
m
Q
o 2
] o
Q
Z
0 [0)
<)
C
50 <
-100
-150
150
100
m
9]
50 9]
—
o
Q
0 Z
Q
o
-50 <
<
-100
-150
150
100
m
Q
50 o
o
Q
0 Z
Q
g
-50
<C
-100
-150
150
100
%]
Q
50 g
o
Q
)
0 (0]
o
C
50 <
-100
-150

169 — Velocity m— Angle
- 60
1.4 o - 40
[
- 20
> =
o 1.2 4 O
S oz
2 @
F-20 2
1.0 <
- —40
0.8 - - —60
T T T T
3 4 5
Time
Cell 101
0.40 logi m— Angle
0.35 - -0
0.30 - - 100
F
5. 025 o
2 - 50 S
8 0.20 o
2 0 o
0.15 [5)
E
0.10 - - =30
0.05 - I —100
0.00 -
T T T T T T —-150
0 50 100 150 200 250
Time
Cell 104
0.30 o == Velocify — Angle
- 150
0.25 -
- 100
m
0.20 1 4]
> - 50 Qo
] )
8 015 . 3
2 o
[@)]
0.10 - c
- —50 <
0.05 - - —100
0.00 4 - —150
T T T
20 30 40
Time
Cell 107
0.035
— Angle
0.030 A - 150
0.025 - oo
o
> 0.020 - rs0 2
= )
] (0]
k=) 0 )
fB 0.015 ’) ‘ w
. 2
0.010 ‘ S0 g
! - —100
0.005
- —150
0.000
T T T T
100 150 200 250
Time

Cell 98

Velocity

Velocity

Velocity

Velocity

2.00

1.75

1.50

1.25

1.00

0.75

0.50

0.25

0.00

0.30

0.25

0.20

0.15

0.10

0.05

0.00

0.12

0.10

0.08

°
o
=)

0.04

0.02

0.00

0.008

0.006

0.004

0.002

0.000

Cell 99

— Angle

m— Welocity

150

100

50

=50

—100

-150

Time

Cell 102

= \/elocity m— Angle

Time

Cell 105

m—\/eloci m— Angle

1

W

40 45

Time

50

Cell 108

1

— Angle

1

150

100

50

=50

—100

-150

100

50

=50

-100

-150

150

100

50

=50

-100

-150

T T
150 200

Time

T
250

Angle (degrees)

Angle (degrees)

Angle (degrees)

Angle (degrees)



Velocity

Velocity

Velocity

Velocity

4.5

4.0

3.5

3.0

2.5

2.0

15

1.0

0.5

10

Cell 109
T Velocity m— Angle
- 50
- m
- O w
(]
—
o
_ (]
°
- —50 w
n [«)}
c
| <
I —100
- —150
T T T T T T
1 2 3 4 5 6
Time
Cell 112
= \/elocity m— Angle
- 100
T Fs50 &
(]
]
—
(o)}
_ -0 ()]
°
Q
L _ o
. 50 2
<
I —100
I —150
T T T T T T
1 2 3 4 5 6
Time
Cell 115
= Velocity = Angle
N - 150
i - 100
m
(]
- 50 (0]
—
. o
(]
- o °
Q
] 50 €
<
-1 / I —100
I —150
T T T T T T
0 5 10 15 20 25
Time
Cell 118
—— \/elocity m— Angle
- - 150
- 100
m
(]
- 50 o
(o)}
B (0]
©
0 ~
Q
o
. c
F-50 <
B I —100
T T T T T — ~150
1 2 3 4 5 6

Cell 110
35 4= Velocity m— Angle
- 100
3.0 H
- 50
2.5
>
=
8 201 Lo
()]
>
1.5
F —50
1.0
0.5 - —100
T T T T T T
1 2 3 4 5 6
Time
Cell 113
m— \/elocity = Angle |
3.5 100
3.0 1 - 50
2.5
_4? Y
(9]
% 2.0
> - -50
1.5
I —100
1.0
0.5 F —150
T T T T T T
1 2 3 4 5 6
Time
Cell 116
= Velocity = Angle
3.0 H
- 150
2.5 L 100
2.0 H
> - 50
=
3
= 1.5 - -
()] > 0
>
1.0 F —50
0.5 - —100
0.0 I —150
T T T T T T
0 5 10 15 20 25
Time
Cell 119
m— \/elocity m— Angle
4.0 A I 60
3.5 L 40
3.0 1
- 20
>
2 254
9]
ks! o
()] -
= 2.0
F —20
1.5
10 4 - —40
0.5 - —60
T T T T T
2 3 4 5 6
Time

Angle (degrees)

Angle (degrees)

Angle (degrees)

Angle (degrees)

Cell 111

—— \/elocity = Angle | 150
5 -
- 100
4 -
- 50
>
=
9] E -
s’ 0
()]
>
5 I —50
I —100
1 -
F —150
T T T T T T
1 2 3 4 5 6
Time
Cell 114
35 47— Velocity m— Angle
- 100
3.0 1
2.5 4 - 50
>
=
O
) 2.0 4
Q -0
>
1.5
- —50
1.0
0.5 I —100
T T T T T T
1 2 3 4 5 6
Time
Cell 117
- 100
0.8 |4 = Velocity = Angle
0.7 - 50
0.6 +
R
-0
> 0.5
=
3
— 0.4
(V] - —
g 50
0.3 4
02 4 I —100
0.1 o
I —150
0.0 T T T T
10 15 20 25
Time
Cell 120
—\/elocity — Angle
- 125
7 -
- 100
6 -
- 75
5 -
>
'E - 50
S 44
()]
> - 25
3
-0
2 -
- —25
1 -
- —50

Angle (degrees)

Angle (degrees)

Angle (degrees)

Angle (degrees)



Cell 121
= Angle | 100
- 50
m
O
Fny Lo o
O ()
o Z
g o
L _ (o)}
50 2
<
- —100
T T T T
3 4 5 6
Time
Cell 124
— \/elocjty = Angle [~ 20
o
- —20
m
()
- F-40 O
= o
v} ()]
o - -60 ©
2 o
L (o)}
80 g
<
- —100
 —120
F -140
T T T T T T
0 5 10 15 20 25
Time
Cell 127
1.0
— Velocity = Angle
- 100
0.8
F50 &
()
> 0.6 v
= o
S o ]
o Z
s 0.4 5
4 - L (o)}
50 2
<
0.2 - o0
I -150
T T T
15 20 25
Time
Cell 130
100
07 4 — Vepocity m— Angle
0.6 - 50
m
0.5 - o
> -0 =
= o
v} ()]
2 a4 z
2 o
L _ (o)}
50 2
0.3 - <
0.2 - —100
T T T T T
14 16 18 20 22

Cell 122
6 ;
= \elocity = Angle
- —20
5] - —40
l m
) 60
> S
S F-80 @
o° Z
v 3
Q3  —100 @
()}
C
L —120 <
2 -
- —140
14 - —160
T T T T T T
1 2 3 4 5 6
Time
Cell 125
100
404 — Velocity m— Angle
3.5
- 50
3.0 —
(%]
0}
> 2.5 1 o
e -0 [o)]
o (9]
S 2.0 Z
2 o
1.5 =
L C
50 S
1.0
0.5 L 100
0.0
T T T T T T
0 5 10 15 20 25
Time
Cell 128
1.0 7 cit: Angle
¥ L 150
0.8 - 100
m
Fs0o @
5. 0.6 o
= o
8 - o 35
o of >
> 0.4+ 9
(@)}
F 50 ¢
<
0.2 - —100
- —150
0.0
T T T T
10 15 20 25
Time
Cell 131
16 9 — v locity = Angle
1.4 - 10
1.2 - 100
B
. 1.0 9]
2 - 50 S
(8}
3 0.8 7 o
9} o
> Q
0.6 o
<
0.4 - =30
0.2 - —100
0.0
. ’ r — 150
5 10 15 20
Time

Cell 123

Velocity m— Angle
3.0
- 150
2.5
- 100
m
2.0 %
_4? - 50 a
o Q
9O 154 z
g o3
g
1.0
F —50 <
0.5
I —100
0.0 1
T T T T T T —-150
0 5 10 15 20 25
Time
Cell 126
0.6 9 Velocity = Angle |- 180
- 160
0.5 H
- 140
04 g
- - 120 o
b (o)
] Q
F 1
é% 0.3 1 0z
0]
= L s0 o
c
0.2 H <
- 60
01 - - 40
- 20
T T T T
10 15 20 25
Time
Cell 129
0.70 H .
= Velocity = Angle
- 150
0.65
0.60 - 100
0.55 $
z s g
5 0.50 9]
o °
<L 0.5 1 Lo o
o
c
0.40 <
F =50
0.35
0.30 - oo
T T T T T T
8 9 10 11 12 13
Time
Cell 132
Velocity m— Angle
- 150
- 100
m
0
-é\ - 50 a
] Q
o )
g 0w
=)
c
F —50 <
I —100
T T T T -150
5 10 15 20
Time



Cell 133
w— \/e|ocit: — Angle
20 4 - 150
‘ - 100
m
1.5 [}
-~ 50 qd
= (o))
[9] 9]
o ro °
g 1.0 L)
50 2
<C
0.5 I —100
F —150
0.0
T T T T
5 10 15 20
Time
Cell 136
0.5 o == Velocjty — Angle
- 150
0.4 H
- 100
m
o
2 %37 Fs0 5
9] Q
S z
Q — -
> 0.2 4 °
o
c
F —50 <
0.1
F —100
0.0 J
T T T T —150
5 10 15 20
Time
Cell 139
—_ locit — Angle
3.0 H
- 150
257 - 100
@
5 20 Fso @
= (o))
9] 9]
9 15 4 - o z
2 o
g
- F —50
1.0 <
05 F —100
) F —150
0.0
T T T T T T
0 5 10 15 20 25
Time
Cell 142
Velocity m— Angle
- 40
8 -
- 20
F
6 - Y
> p
b [@)]
8 - 20 ©
> E
> 4 A @
L _ <)
40 c
<
- —60
2 -
- —80
0 T T

Cell 134
4.0 o = Velocity = Angle
35 - 150
3.0 H - 100
B
2.5 O]
:? - 50 5
3 2.0 A 3
2 0w
1.5 [«)]
&
1.0 - =50
0.5 - —100
—'\/\/\
0.0
T T T — —150
5 10 15 20
Time
Cell 137
— \/plocity = Angle |- O
2.5 1
- —10
[
2.0 1
> o
= - — (@)}
S 20 O
5 z
S 157 ©
<)
F —30 <
<
1.0
- —40
0.5
T T T T T T
1 2 3 4 5 6
Time
Cell 140
2.00 - g== Velocity = Angle
1.75 - 150
1.50
F 100 &
]
S, 1.25 o
= [o)]
[ - 50 [
S 1.00 S
2 o
4 <)
0.75 L o o
<
0.50
F —50
0.25
0.00 r T r — -100
5 10 15 20
Time
Cell 143
0.8 9 = Velpcity = Angle
0.7 150
0.6 100
%)
9]
> 0.5 OL)
= - 50 [@)]
(9] Q
S 04 z
> L Q
0 <)
0.3 c
<
0.2 4 F —50
0.1 I —100
T T T T T
7.5 10.0 125 15.0 17.5 20.0
Time

Cell 135

m— \/elocity — Angle
1.4 A L 150
1.2
- 100
1.0 o
9]
> I 50 S
‘O 0.8 [0}
s z
[T} L
> 06 4 0 9
o
c
0.4 H F —50 <
0.2 4 - —100
0.0 1
T T T -150
5 10 15
Time
Cell 138
= \/elocity — Angle
8 V L 150
- 100
4 m
6 0]
> Fso Q2
s (o)
o Q
o 4 o
2 0 o
=)
c
F -50 <C
2 -
I —100
04 I —150
T T T T T T
0 5 10 15 20 25
Time
Cell 141
6 - Velocity = Angle
- 150
5 -
- 100 H»
s g
> g
= [o)]
[9} - Q
FER 0 3
2 o
o £
27 <
14 - —50
0 - —
T T T 100
5 10 15
Time
Cell 144
Velqcity m— Angle
1.0 - - 130
- 100
0.8 —_
%]
0]
- Fso O
)
S 06 0
o o
© oS
> Q
0.4 =2
L _ c
50 <
0.2 H I —100
0.0 F —150
T T T T T
0 20 40 60 80 100
Time



Cell 145
1.0 Velpcit = Angle
- 150
0.8
- 100
m
Q
> 0.6 r0 g
= [o)]
] Q
o Lo °
(9]
> 0.4 4 9
g
- —50
<C
0.2 F —100
F —150
0.0
T T T T T T
0 20 40 60 80 100
Time
Cell 148
0.20 e i —
Velocit Angle |
0.18
- 0 -
0.16 o
- Q
b (o)
Q
8 0.14 1 -0 o
2 o
g
0.12 A
+ —100 <
0.10
F —150
0.08
T T T T T
64 66 68 70 72
Time
Cell 151
- 100
5 o = Velocity = Angle
- 50
4 -
[
Y
- g
£ 3 A (o))
o Q
o °
g - —50 o
] <)
2 c
<C
I —100
1 -
I —150
T T T
2 4 6
Time
Cell 154
0.4 4 elgeity m— Angle
- 150
- 100
0.3 —
o
- - 50 g
b (o)
o Q
9O 0.2 A - o )
2 o
o
- -50 <
<
0.1
I —100
F —150
0.0
T T T T
20 40 60 80

Cell 146
1.0 locity = Angle
- 150
0.8
- 100
m
1}
> 0.6 Lso &
= o
5 o}
o Z
@] o
> 0.4 4 9
[@)]
C
F —50 <C
0.2
- —100
0.0 - —150
T T T T T T
0 20 40 60 80 100
Time
Cell 149
1.4 = Angle
- 150
1.2 1
- 100
1.0 1 5
Lso @
2 08 - o
o (0]
) - o Z
<L 0.6+ g
[®)]
F -50 <
0.4 <
- —100
0.2
- —150
0.0
T T T T
0 20 40 60 80
Time
Cell 152
1.0 1
- 150
0.8 - 100
m
o
- 50
2 06 4 o
5 o}
o L o Z
< )
0.4 =)
- 50 £
0.2 7 L —100
0.0 4 - —150
T T T T T
0 20 40 60 80
Time
Cell 155
0.6
——\/elocity — Angle
- 150
0.5
- 100
0.4 E§
- - 50 o
= o
(@] - (0]
8 %3 Lo
2 o
0.2 L 50 &
<
o1 J - —100
- —150
0.0
T T T T T
10 20 30 40 50
Time

Cell 147

‘elocity m— Angle
0.08 - 150
- 100
0.06 - m
Q
- - 50 o
= [o)]
S 3
2 0.04 o =
> Q
- —50 g
<C
0.02 A
I —100
F —150
0.00 -
T T T T
40 60 80 100
Time
Cell 150
1.4 - Velocity m— Angle
- 150
1.2
- 100
1.0 § m
o
2 08 - 0 o
] Q
o z
<L 0.6+ Fo o
=)
c
0.4 - L 50 <
0.2 7 - —100
0.0
T T T T -150
20 40 60 80
Time
Cell 153
1.0 Veloci = Angle
- 150
0.8
- 100
m
i
2 0.6 )
] Q
o °
g o3
i o
0.4 g
F —50 <
0.2
I —100
T T T -150
5 10 15
Time
Cell 156
0.12 1 elocity — Angle
- 150
0.10
- 100
i m
0.08 3
- Fso Y
4 (o)
] Q
8 0.06 1 , =
g @
=)
0.04 A -
F—-50 <
0.02 I —100
0.00 - I —150
T T T T
20 30 40 50
Time




Cell 157
0.040 | == Velofity — Angle
0.035 - 100
0.030
~ 50 W
()
5, 0025 9]
= o
8 0.020 - - o 3
o Z
()
= 0.015 - o
- -50 &
0.010
0.005 I —-100
0.000
T T T
70 75 80
Time
Cell 160
2.0 - 150
- 100
1.5 o
> Fs0 @
£ o
[} ()]
kel Lo )
g 1.0 w
(o)}
- 50 5
0.5
I —-100
0.0 1 I 150
T T T T T T
0 20 40 60 80 100
Time
Cell 163
1.4 Velqggi m— Angle
I 150
1.2
I 100
1.0 -
O
- 50
2 08 =)
(9] ()
kel Lo Sl
L 06 L5}
g
0.4 - -0 <
0.2 4 - —-100
0.0 4 M - —150
T T T T T T
0 20 40 60 80 100
Time
Cell 166
—\/elgCit] m— Angle
1
0.25 - 20
I 100
0.20 @
()
- 50 qL)
£ o
G 0.15 a1}
kel o )
g 9
0.10 - -50 2
<
‘ -1
0.05 0o
I —-150
0.00

60
Time

20 40 80

100

Cell 158
= Velocit = Angle | 175
0.05
F 150
0.04 -
F 125 “»n
(0]
> 5
S 0.03 - 100 o
< 2
2 75 ©
0.02 o
c
- 50 <
0.01
- 25
0.00 -0
T T T T
88 90 92 94
Time
Cell 161
—\/e|pqit] — Angle
4 < - 150
- 100
m
3 1)
> Fs0o @
4 (o)}
[v] (0]
o L, =
227 ©
[«)]
- 50 5
1 -
) ' l F —100
0 l F —150
T T T T T
0 40 60 80 100
Time
Cell 164
— Yelocity — Angle
2.0 F 150
- 100
m
1.5 ., 8
> g
= [o)]
[v] (0]
i) - o )
L 10T P
F —50 g
<
0.5 L _100
- —150
0.0
T T T
0 20 30 40
Time
Cell 167
— \/elogity — Angle
F 150
0.08
- 100 n
0.06 ]
> o
g g
§ F50 ©
g 0.04 ©
[«)]
c
- 0 <
0.02
F =50
0.00

80

84 86

Time

82

Cell 159

0.09
m— \/e|ocity — Angle
0.08 - 150
0.07 - 100
8
5., 0.06 Lso O
= [o)]
9] Q
O 0.05 o
] ro =
> Q
0.04 g
F —50 <
0.03
I —100
0.02
F —150
T T T T
88 90 92 94
Time
Cell 162
m— \/elocity m— Angle
1.4 A
- 100
1.2 A
- 50 iy
1.0 o
> Q
= o
‘o 0.8 - -0 Q
S z
(@]
> 0.6 1 .%
F —50 b3
0.4 H <
I —100
0.2 H
0.0 I —150
T T T T T
2.5 5.0 7.5 10.0 125
Time
Cell 165
0.50 o == Velocity — Angle
- 150
0.45
0.40 - 100
m
0.35 8
é\ : - 50 S\
(9] Q
© 0.30 T o
2 Lo @
4 o
0.25 bt
<C
0.20 - —50
0.15
I —100
0.10
T T T
10 20 30
Time
Cell 168
100
0.085 | === Velocity m— Angle
0.080 -
- 50
0.075 —
%]
0
-0
_;‘ 0.070 S!
(9] Q
o° °
o 0.065 -
> L 50 2
=)
0.060 - Z
0.055 - - —100
0.050
- —150

94
Time

90 92

96 98



Cell 169
= Velocit — Angle
1.75 + - 150
1.50 1 L 100
1.25 o
> - 50 o
= (o))
o 1.00 +H )
o - o S
9]
> . Q
0.75 o
F —50 g:
0.50
I —100
0.25
I —150
0.00
T T T T T T
0 20 40 60 80 100
Time
Cell 172
= \/elocity = Angle [~ 150
2.0
- 100
50 &
1.5 0]
> g
b (o)
(9} - o Q
2 z
L 104 o
- — o
50 2
<
0.5 - —100
F —150
0.0 T T T T T
2.5 5.0 7.5 10.0 125
Time
Cell 175
0.175 - == Melocity = Angle
- 150
0.150
- 100
0.125 - g
3 - 50 g
‘G 0.100 - o
o -0 S
(9]
> ] Q
0.075 o
F-50 <
<C
0.050
I —100
0.025
F —150
T T T T T T
50 60 70 80 90 100
Time
Cell 178
4.0 + = Vgocit = Angle
- 150
3.5
3.0 4 - 100
F
> 2.5 - 50 o
b (@)
(9} Q
o 2.0+ - o S
2 o
1.5 A
L 50 2
<
1.0
I —100
0.5 1
I —150
0.0 H
T T T T
0 50 100 150

Time

Cell 170
2.5 o =] Velpcjty = Angle
F 150
2.0 1 - 100
m
50 %
2 15 5
V] (0]
{% - o <l
> Q
1.0 g,
- —50
<
0.5 + F —100
- —150
0.0 +
T T T T
0 10 20 30
Time
Cell 173
054 — Velocity — Angle
- 150
0.4 + - 100
m
Lso 9
2 031 5
(9] (0]
k) Fo T
2 v
0.2 1 o)
F-50 &
<<
0.1 - - —100
F —150
0.0 +
T T T T
20 40 60 80 100
Time
Cell 176
m— A \/e|ocity m— Angle
0.07 o
F 150
0.06 -
o m
100 O
- 0.05 - [
= (o))
3 3
o] 0.04 F 50 =
> Q
[«
0.03 S
. Lo <
0.02
- —50
0.01
T T T T
92 94 96 98
Time
Cell 179
Velpcit — Angle
F 150
0.4 H
- 100
@
0.3 -
- 50 o
= (o)}
(V] (0]
S ro T
2 02 Q
[<)]
F -50 &
<<
0.1 H F —100
F —150
0.0 +

50 100 150

Time

Cell 171

2.00 ejoqi = Angle
- 150
1.75
1.50 4 - 100
3
5. 1.25 1 - 50 o
= o
3 1.00 A . 3
2 o
0.75 =)
- 50 £
0.50
- —100
0.25
0.00 - - —150
T T T T T T
0 20 40 60 80 100
Time
Cell 174
0.12
— \/elocity m— Angle
I 150
0.10
- 100
0.08 m
o]
> Fs0 Y
= o
(@] - (0]
8 0.06 ; 3
2 o
[®)]
0.04
- 50 5
0.02  —100
0.00 - —150
T T T T T
40 50 60 70 80
Time
Cell 177
P Velocity — Angle
I 150
37 100 &
9]
> g
= o
o - Q
8,4 50 3
2 o
[@)]
0 c
<
1 -
- —50
0 -
. . - —100
5 10 15
Time
Cell 180
051 — Velpcity
- 150
0.4
- 100
F
S, 0.3 7 - 50 o
= o
(@] (0]
o Fo <
9]
> 0.2 Q
L 50 2
<
0.1 1 - —100
- —150
0.0
T T T
50 100 150
Time




Cell 181
— 1\/@|OCit m— Angle
0.12 F 150
0.10 - 100
| 3
>, 0.08 - rs0 o
= o
5 | g
2 ' - 0 ©
o 0.06 - ~
> | Q
[@)]
| F -50 ¢
0.04 - 1M1 <
- —100
0.02
- —-150
0.00
T T T T T
50 75 100 125 150
Time
Cell 184
m—\/e|oCi = Angle
0.14 7 - 150
012 9 - 100
m
0.10 9]
- - 50 o
= o
(@] - (V]
8 0.08 Lo <)
g @
0.06
L 50 2
<
0.04
- —100
0.02
- —-150
T T T T T T
60 80 100 120 140 160
Time
Cell 187
m— \/elocity m— Angle
0.12 - —40
0.10 60 &
Q
> g
= o
[u] L _ Q
© 0.08 80 S
2 o
00 g
- -1
0.06 <
- —-120
0.04
T T T T T -140
95.0 97.5 100.0 102.5 105.0
Time
Cell 190
0.070 4 Velocity = Angle
- 150
0.065 -
0.060 -0
%]
0.055 0
fnl )
(@] (0]
© 0.050 o
2 ro o
0.045 o
<
0.040 - =50
0.035 - L _100
0.030
T -150

138
Time

134 136

140

Cell 182

— \/elogity m— Angle
I 150
0.10
- 100
m
0.08 9]
- - 50 8
= o
(@) ()
{3 0.06 ro 2
> Q
L 50 2
0.04 <
- —100
0-02 7 - 150
T T T T T T
50 60 70 80 90 100
Time
Cell 185
= \/elocity —— Angle | 175
0.10
- 150
. F 125 »
0.08 9
> g
= - o
s 100 3
S 0.06 =
> Fr75 9
[®)]
C
0.04 -s0 <
- 25
0.02
o
T T T T T
68 69 70 71 72
Time
Cell 188
011 4 — \/elocity = Angle | 100
0.10
I 50
0.09 - m
(0]
2 5
G 0087 Lo ©
S z
L 0.07 A o
[@)]
C
0.06 F—50 <
0.05
- —100
0.04
T T T T T T
110.0 112.5 115.0 117.5 120.0 122.5
Time
Cell 191
= \/elocity m— Angle
- 150
0.08
- 100
m
(0]
>, 0.06 Fso 2
= o
(@] (0]
2 z
g M
0.04 )
C
F -50 <
0.02 - —100
- —150
T T T
154 156 158
Time

Cell 183

0.250 4 = Velocity = Angle
0.225 - - 100
0.200 .
- 7))
50 @
>, 0.175 g
= o
o Q
© 0.150 L o el
4]
> Q
- [@)]
0.125 o
L 50 <
0.100
0.075
I —100
0.050
T T T T T T
52,5 55.0 57.5 60.0 62.5 65.0
Time
Cell 186
—\/eloCj m— Angle
0.09
- 150
0.08
I 100
- 0.07 H o
= o
(@] (0]
2 0.06 Lso 2
> Q
g
0.05 g
o
0.04
- —50
0.03
T T T T
75 76 77 78
Time
Cell 189
— \/e|ogity m— Angle
- 150
0.10
- 100
0
0.08 9]
> g
S Lso @
S 2
L 0.06 | w
o 2
<
0.04
- —50
0.02 T T T T T
122 124 126 128 130
Time
Cell 192
100
2.00 Velqcity = Angle
1.75
- 50
1.50
F
5. 125 1 Lo o
g g
8 1.00 ©
[0
> Q
0.75 F -50 o
C
<
0.50
0.25 - - 100
0.00
T T T
5 10 15
Time



Cell 193
6 -
w— \/glqCity m— Angle
F 150
5 -
- 100
4 m
i
2 Fso £
O 3 (]
S z
2 0 @
=)
2 c
- —50 <
1 -
F —100
0 -
T T T T —-150
0 50 100 150
Time
Cell 196
0.5 Velpgty m— Angle
- 150
0.4
- 100
m
o]
> 0.3 50 2
h— (o))
S S
] 0
> 024 Q
2
F —50
<
0.1 1 L —100
0.0 I —150
T T T T
50 100 150
Time
Cell 199
= Velocity — Angle [ 7
0.16
- 50
0.14 A
- 25
7))
0.12 [0}
2z )
'g 0.10 <
5 F —-25 —
> 0.08 <
: =)
F -50 <
<C
0.06
F =75
0.04
I —100
0.02
T T T T T
46 48 50 52 54
Time
Cell 202
0.7 4 = Velogty m— Angle
- 150
0.6 -
- 100
0.5 A
i
2 04 - 30 5
[v] o)
S z
<L 03 -0 o
o
c
0.2 F —50 <
017 - 100
0.0
T T T T T —-150
0 20 40 60 80

Cell 194
1.4 — cit m— Angle
- 150
1.2 §
- 100
1.0 m
i
- 50
2 08 o
9 0}
o l, =
2 061 o
[&)]
- 50 S
0.4 <
0.2 4 I —100
0.0 F —150
T T T T
0 50 100 150
Time
Cell 197
0.5
= \/elocity m— Angle
- 150
0.4
- 100
m
50 $
Z 03 5
3 3
o o =
> Q
0.2 4 o
- -50 g
I —100
0.1
F —150
T T T T T
15.0 17.5 20.0 225 250
Time
Cell 200
0.04 - — \/elocity m— Angle
- 150
- 100
0.03 - =
[0}
- - 50 Qo
= [o)]
9} 0}
© 0.02 4 Lo o
(7]
> Q
&)
c
- —50 <
0.01 -
I —100
0.00 - F —150
T T T T
125 130 135 140
Time
Cell 203
m— Angle
- 150
- 100
[
- - 50 o
b (o)
v} [0}
o o )
2 o
- -s0 2
<
I —100
I —150

50

75 100 125

Time

Cell 195

— Angle
1.0 - 150
- 100
0.8 ’q"’:
3 - 50 o
S 0.6 g
o - o o
2 o
04 7 L 50 &
<
0.2 I —100
I —150
0.0
T T T T
0 50 100 150
Time
Cell 198
0.12 Vejocity = Angle
- 150
0.10
- 100
m
0.08 - [0]
- Fs50 @
4 (o)
9} [0}
O 0.06 L o o
()]
> Q
0.0 ch
.04 - -50
<
0.02 - I —100
I —150
0.00
T T T
40 60 80
Time
Cell 201
- 75
—\/e|nCity m— Angle
0.09 L 5o
0.08 - 25
o 8
0.07 B
> g
= [o)]
S 0.06 - 8
< =
> - -50 2
0.05 - (=)
c
- _75 <
0.04 -
I —100
0.03 -
- —125
0.02 T T T T
134 136 138 140 142
Time
Cell 204
0.06 4 = Velocity = Angle | 100
0.05 - 50
m
0
__é\ 0.04 -0 S)
9} [0}
5 z
()]
> i L Q
0.03 50 o
c
<
0.02 4 I —100
0.01 4 F —150
T T T T
92 94 96 98
Time



